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Autumn 2017 Paper 1 Q2

1 Workout 2+7x10

(Total for Question 1 is 1 mark)

Autumn 2018 Paper 1 Q5
2 (a) Workout 3x5+7

1)
(b) Work out ~ 2°
1)
(c) Write brackets () in this statement to make it correct.
7 x 2+ 3 =35
1)

(Total for Question 2 is 3 marks)
Summer 2019 Paper 1 Q3

3 Work out 10 x (3 +5)

(Total for Question 3 is 1 mark)
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Autumn 2021 Paper 2 Q9

4 Alec needs to work out the value of 2 +3 x 4

He writes
2+3=5and5x4=20, so 2+3x4=20

Alec is wrong.
Explain why.

(Total for Question 4 is 1 mark)
Autumn 2022 Paper 1 Q3

5 Work out 20 + (3 +2)

(Total for Question S is 1 mark)






